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Factor B: Fullness

Factor A Empty Full
Weiaht ' Normal | n=20 n=20 Tt = TA0O
X =22 X =18
T=440 T=300
S55=1540 S5=1270
Obese | n=20 n=20 T hormal = TO0
X =17 ¥ =18
T=340 T=360
S55=1320 S5=1266
Il:mpt._y = T8 Ii'ull = Gl G=1440
N=80
¥ X% =31836
X, =18
—2
X, =324
N = R[]I
N = }L; }— rJ*nfEFJ’[]'

T X? - N« (X,) = 31836 — 25020 = 5916

- step 1. Build hypothesis
Weight Of 2} Crackers 43 20i= At0|7t A2 ZO|Ct.
Fullness Of 2} Crackers &F & 0l= X0|7} AUS ZAO|Ct.

Weight2t FullnessOll= O A7k U1, O[0f h2t Crackers G F &0 Xto|7t S AO|CE



- step 2. Locate the critical range for F-ratio. Calculate the df s

r"!f.'rh'rn' "N-1=80-1=79

r"!fu'.".'ﬁ."n k=1=4-1=3

r"!ﬁ:r.'ll'rrn . r"!f-'rl-'rn' - r"!fll'i”l."n =79-3=76

dfa : (The number of levels of A) =1 =2-1 =1
df5 : (The number of levels of B) -1 =2 -1 = 1
r"{.lr.-'l.r'B . r"fﬁ:rhrrrn - (r"l.lr'l + r"f.lrﬁ') =3 - (1+1) =1

A i

X, =18

X, =324

N =80

N * (X,") = 25920

YX? — N # (X;) = 31836 — 25020 = 5016

2. F’I-L.’.ll'.f.'.rl.fn

SSithin = S Swithin = 1540 + 1270 + 1320 + 1266 = 5396

1. SShetween : {(440"2 + 30072 + 340"2 + 360"2) / 20} - {(1440°2)/80} =

520

1. S84 : [{(440 + 300)"2 + (340 + 360)"2}/40] - {(1440°2)/80} = 20
2. 558 : [{(440 + 340)"2 + (300 + 360)"2}/40] - {(1440"2)/80} = 180

3. r"L"er = ~L.«‘I~L.’I|’:r.'||'rr1r - (L’L"l + L’L’B) = 520 - (20 + 180) = 320

MS4 (854 /dfa)y=(20/1)=20

MSp : (SSp / dfB) = (180 /1) = 180

MSacp : (SSaep / dfazp) = (320 / 1) = 320
-'\ISH'-"-'I'-"” : (~L.’I~L.«‘I||'.".'.'|."Jr / r'ff"'*"I'J'Jf) = (5396 / 76) =71

o



1. Fa o (MSa ) MSwitnin) = (20 / 71) = 0.28169
2. Fp : (MSp | MSwinin) = (180 / 71) = 2.53521
3. Farp 1 (MSarn / MSwithin) = (320 / 71) = 4.50704

Table 1. Mean number of crackers eaten in each treatment condition

Fullness

Empty stomach Full stomach
Weight Normal M =22 M =15

SD = 9.00 SD = 8.18

Obese M =17 M =18
SD = 8.34 SD = 8.16
Result

Source SS df MS F
Between Treatment | 520 3
- Factor A (weight) 20 1 20 0.28169
- Factor B (Fullness) | 180 1 180 2.53521
- A x B interaction 320 1 320 450704
Within Treatment 5396 76 71
Total 5916 79

Weight x fullness factorial design




- step 3. Statistical Decision

Fa =028 (1,76) ¥ = 253 (1,76) Farm = 450 (1,76) 24, Faol

w2 120 A7 MEo

CI2 o|n|& ZtX| Z3tL|Ct LIHX|= EA&XOl o|O0|2 JHX|2 2 F-distribution table O A

2t (1,76) 4tS HOL&OFOF SHX|TF F=O{ Tl F-distribution tableO| 20| LIQIAUX| ooz

X2l (1,609 e Tl Znb 400] LtA EUCH Of B Fi 9Al SAEHQ ooj7t

Huroh Zuxoez Fag
AL

f
hypothesisE £8g = U4 &UCh

- step 4. Result Explanation

f'._.19|' I*BZIQI 4% P*‘.'l"ll-‘l‘."rll value ECH 27| {2 0f A2kt
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